

A Study of Certain New Subclasses defined in the Space of Analytic Functions

Imran Faisal, Maslina Darus and Saibah Siregar

Abstract

An attempt has been made to introduce certain new subclasses of analytic function bounds by some differential operator also define in the space of analytic functions. We study and investigate various inclusion properties of these classes. Some interesting applications of integral operators are also considered.

key words. Analytic functions, Integral operator, Inclusion properties.

AMS subject classifications. 30C45

1 Introduction and Preliminaries

Let A denote the class of analytic functions of the form $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$, in the open unit disk $\mathbb{U} = \{z : |z| < 1\}$ normalized by $f(0) = f'(0) - 1 = 0$.

For $f \in A$ and $\alpha, \beta, \mu, \lambda \geq 0$, author (cf., [1, 2, 13]) introduced the following differential operator:

$$\bullet D_{\lambda}^n(\alpha, \beta, \mu)f(z) = z + \sum_{n=2}^{\infty} \left(\frac{\alpha + (\mu + \lambda)(n-1) + \beta}{\alpha + \beta}\right)^n a_n z^n.$$

Operator $D_{\lambda}^n(\alpha, \beta, \mu)f(z)$ is the generalized form of the following operators:

1. $D_{\lambda}^n(\alpha, 0, \mu)f(z) = D^n f(z)$ (see [3]);
2. $D_{\lambda}^n(\alpha, 1, 0)f(z) = D^n f(z)$ (see [4]);
3. $D_{\lambda}^n(1, 0, 0)f(z) = D^n f(z)$ (see [5]);
4. $D_1^n(1, 0, 0)f(z) = D^n f(z)$ (see [6]);
5. $D_1^n(1, 1, 0)f(z) = D^n f(z)$ (see [7]);

6. $D_1^n(\alpha, 1, 0)f(z) = D^n f(z)$ (see [8]).

Moreover we define a new integral operator as follows:

$$\begin{aligned} \mathfrak{C}^0(\alpha, \beta, \mu, \lambda)f(z) &= f(z); \\ \mathfrak{C}^1(\alpha, \beta, \mu, \lambda)f(z) &= \frac{\alpha + \beta}{\mu + \lambda} z^{1 - \frac{\alpha + \beta}{\mu + \lambda}} \int_0^z t^{\frac{\alpha + \beta}{\mu + \lambda} - 1} f(t) dt; \\ \mathfrak{C}^2(\alpha, \beta, \mu, \lambda)f(z) &= \frac{\alpha + \beta}{\mu + \lambda} z^{1 - \frac{\alpha + \beta}{\mu + \lambda}} \int_0^z t^{\frac{\alpha + \beta}{\mu + \lambda} - 1} \mathfrak{C}^1(\alpha, \beta, \mu, \lambda)f(t) dt; \\ &\vdots \\ \mathfrak{C}^m(\alpha, \beta, \mu, \lambda)f(z) &= z + \sum_{n=2}^{\infty} \left(\frac{\alpha + \beta}{\alpha + (\mu + \lambda)(n - 1) + \beta} \right)^m a_n z^n. \end{aligned} \tag{1}$$

$\mathfrak{C}^m(\alpha, \beta, \mu, \lambda)$ generalized some well know differential operators such that

1. $\mathfrak{C}_1^\alpha(1, 1, 0, 1)f(z) = I^\alpha f(z) = z + \sum_{n=2}^{\infty} \left(\frac{2}{n+1} \right)^\alpha a_n z^n$ (see [9]);
2. $\mathfrak{C}_1^m(1, 0, 0, \lambda)f(z) = I_\lambda^{-m} f(z) = z + \sum_{n=2}^{\infty} (1 + \lambda(n - 1))^{-m} a_n z^n$ (see [10]);
3. $\mathfrak{C}_1^\alpha(1, 1, 0, 1)f(z) = I^\alpha f(z) = z + \sum_{n=2}^{\infty} \left(\frac{2}{n+1} \right)^\alpha a_n z^n$ (see [11]);
4. $\mathfrak{C}_1^m(1, 0, 0, 1)f(z) = I^m f(z) = z + \sum_{n=2}^{\infty} (n)^{-m} a_n z^n$, (see [12]).

Definition 1.1 Let $f \in A$ is said to belong to the class $M(\alpha, \beta, \mu, \lambda, \delta)$ if it satisfy the following analytic criterion

$$\Re\left(\frac{z(\mathfrak{C}^m(\alpha, \beta, \mu, \lambda)f(z))'}{\mathfrak{C}^m(\alpha, \beta, \mu, \lambda)f(z)}\right) > \delta, \quad 0 \leq \delta < 1.$$

Definition 1.2 Let $f \in A$ is said to belong to the class $N(\alpha, \beta, \mu, \lambda, \delta)$ if it satisfy the following analytic criterion

$$\Re\left(\frac{(z(\mathfrak{C}^m(\alpha, \beta, \mu, \lambda)f(z)))'}{(\mathfrak{C}^m(\alpha, \beta, \mu, \lambda)f(z))'}\right) > \delta, \quad 0 \leq \delta < 1.$$

2 Characterization properties

Theorem 2.1 If an analytic function $f \in A$ satisfy the following inequality

$$\sum_{n=2}^{\infty} (n - \delta) \left(\frac{\alpha + \beta}{\alpha + (\mu + \lambda)(n - 1) + \beta} \right)^m |a_n| \leq 1 - \delta, \quad 0 \leq \delta < 1, \tag{2}$$

then $f \in M(\alpha, \beta, \mu, \lambda, \delta)$.

Theorem 2.2 If an analytic function $f \in A$ satisfy the following inequality

$$\sum_{n=2}^{\infty} n(n-\delta) \left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta} \right)^m |a_n| \leq 1-\delta, \quad 0 \leq \delta < 1, \quad (3)$$

then $f \in N(\alpha, \beta, \mu, \lambda, \delta)$.

Proof Let $f \in M(\alpha, \beta, \mu, \lambda, \delta)$ implies

$$\Re \left(\frac{z(\mathfrak{C}^m(\alpha, \beta, \mu, \lambda)f(z))'}{\mathfrak{C}^m(\alpha, \beta, \mu, \lambda)f(z)} \right) > \delta, \quad (\text{see Definition 1.1}).$$

Since we know that $\Re(w) > \alpha \Leftrightarrow |1-\alpha+w| > |1+\alpha-w|$. Therefore

$$\left| (1-\delta)(\mathfrak{C}^m(\alpha, \beta, \mu, \lambda)f(z)) + z(\mathfrak{C}^m(\alpha, \beta, \mu, \lambda)f(z))' \right| > \left| (1+\delta)(\mathfrak{C}^m(\alpha, \beta, \mu, \lambda)f(z)) - z(\mathfrak{C}^m(\alpha, \beta, \mu, \lambda)f(z))' \right|,$$

or

$$\left| (2-\delta)z + \sum_{n=2}^{\infty} (1+n-\delta) \left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta} \right)^m a_n z^n \right| - \left| \delta z + \sum_{n=2}^{\infty} (1-n+\delta) \left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta} \right)^m a_n z^n \right| > 0.$$

Hence after doing some mathematics we have

$$\sum_{n=2}^{\infty} (2n-2\delta) \left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta} \right)^m |a_n| \leq (2-2\delta),$$

or

$$\sum_{n=2}^{\infty} (n-\delta) \left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta} \right)^m |a_n| \leq (1-\delta).$$

This result is sharp with extremal function f given by

$$f(z) = z + \sum_{n=2}^{\infty} \frac{(1-\delta)}{(n-\delta) \left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta} \right)^m} z^n.$$

Corollary 2.3 If an analytic function $f \in A$ belonging to the class $M(\alpha, \beta, \mu, \lambda, \delta)$ then

$$|a_n| \leq \frac{(1-\delta)}{(n-\delta) \left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta} \right)^m}, \quad n \geq 2.$$

Similarly we proved Theorem 2.2.

3 Growth and Distortion Theorems

Theorem 3.1 If an analytic function f belonging to the class $M(\alpha, \beta, \mu, \lambda, \delta)$ then we have

$$|z| - \frac{(1-\delta)}{(2-\delta)} \left(\frac{\alpha + \mu + \lambda + \beta}{\alpha + \beta} \right)^m |z|^2 \leq |f(z)| \leq |z| + \frac{(1-\delta)}{(2-\delta)} \left(\frac{\alpha + \mu + \lambda + \beta}{\alpha + \beta} \right)^m |z|^2.$$

Theorem 3.2 If an analytic function f belonging to the class $N(\alpha, \beta, \mu, \lambda, \delta)$ then we have

$$|z| - \frac{(1-\delta)}{2(2-\delta)} \left(\frac{\alpha + \mu + \lambda + \beta}{\alpha + \beta} \right)^m |z|^2 \leq |f(z)| \leq |z| + \frac{(1-\delta)}{2(2-\delta)} \left(\frac{\alpha + \mu + \lambda + \beta}{\alpha + \beta} \right)^m |z|^2.$$

Theorem 3.3 If an analytic function f belonging to the class $M(\alpha, \beta, \mu, \lambda, \delta)$ then we have

$$1 - \frac{2(1-\delta)}{(2-\delta)} \left(\frac{\alpha + \mu + \lambda + \beta}{\alpha + \beta} \right)^m |z| \leq |f'(z)| \leq 1 + \frac{2(1-\delta)}{(2-\delta)} \left(\frac{\alpha + \mu + \lambda + \beta}{\alpha + \beta} \right)^m |z|.$$

Theorem 3.4 If an analytic function f belonging to the class $N(\alpha, \beta, \mu, \lambda, \delta)$ then we have

$$1 - \frac{(1-\delta)}{(2-\delta)} \left(\frac{\alpha + \mu + \lambda + \beta}{\alpha + \beta} \right)^m |z| \leq |f'(z)| \leq 1 + \frac{(1-\delta)}{2(2-\delta)} \left(\frac{\alpha + \mu + \lambda + \beta}{\alpha + \beta} \right)^m |z|.$$

Theorem 3.5 If an analytic function f belonging to the class $M(\alpha, \beta, \mu, \lambda, \delta)$ then we have

$$|z| - \frac{(1-\delta)}{(2-\delta)} |z|^2 \leq |f(z)| \leq |z| + \frac{(1-\delta)}{(2-\delta)} |z|^2.$$

Theorem 3.6 If an analytic function f belonging to the class $N(\alpha, \beta, \mu, \lambda, \delta)$ then we have

$$|z| - \frac{(1-\delta)}{2(2-\delta)} |z|^2 \leq |f(z)| \leq |z| + \frac{(1-\delta)}{2(2-\delta)} |z|^2.$$

Proof Let $f \in M(\alpha, \beta, \mu, \lambda, \delta)$ then

$$\sum_{n=2}^{\infty} (n-\delta) \left(\frac{\alpha + \beta}{\alpha + (\mu + \lambda)(n-1) + \beta} \right)^m |a_n| \leq 1 - \delta,$$

therefore

$$(2-\delta) \left(\frac{\alpha + \beta}{\alpha + (\mu + \lambda) + \beta} \right)^m \sum_{n=2}^{\infty} |a_n| \leq \sum_{n=2}^{\infty} (n-\delta) \left(\frac{\alpha + \beta}{\alpha + (\mu + \lambda)(n-1) + \beta} \right)^m |a_n| \leq 1 - \delta,$$

implies

$$(2-\delta) \left(\frac{\alpha + \beta}{\alpha + (\mu + \lambda) + \beta} \right)^m \sum_{n=2}^{\infty} |a_n| \leq 1 - \delta.$$

Since

$$|f(z)| \leq |z| + \sum_{n=2}^{\infty} |a_n| |z|^2,$$

hence we get

$$|f(z)| \leq |z| + \frac{(1-\delta)}{(2-\delta)} \left(\frac{\alpha + \mu + \lambda + \beta}{\alpha + \beta} \right)^m |z|^2.$$

Similarly we proved that

$$|f(z)| \geq |z| - \frac{(1-\delta)}{(2-\delta)} \left(\frac{\alpha + \mu + \lambda + \beta}{\alpha + \beta} \right)^m |z|^2.$$

Similarly we proved the remaining the Theorems.

4 Extreme Points

Theorem 4.1 If $f_1(z) = z$ and $f_i(z) = z + \frac{(1-\delta)}{(n-\delta)\left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta}\right)^m} z^i$ where $i = 2, 3, 4, \dots$. Then $f \in M(\alpha, \beta, \mu, \lambda, \delta)$ if and only if it can be expressed in the form $f(z) = \sum_{i=1}^{\infty} \lambda_i f_i(z)$ where $\lambda_i \geq 0$ and $\sum_{i=1}^{\infty} \lambda_i = 1$.

Theorem 4.2 If $f_1(z) = z$ and $f_i(z) = z + \frac{(1-\delta)}{n(n-\delta)\left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta}\right)^m} z^i$ where $i = 2, 3, 4, \dots$. Then $f \in N(\alpha, \beta, \mu, \lambda, \delta)$ if and only if it can be expressed in the form $f(z) = \sum_{i=1}^{\infty} \lambda_i f_i(z)$ where $\lambda_i \geq 0$ and $\sum_{i=1}^{\infty} \lambda_i = 1$.

Proof Let

$$f(z) = \sum_{i=1}^{\infty} \lambda_i f_i(z)$$

implies

$$f(z) = \lambda_1 z + \sum_{i=2}^{\infty} \lambda_i f_i(z)$$

or

$$\begin{aligned} f(z) &= \lambda_1 z + \sum_{i=2}^{\infty} \lambda_i \left(z + \frac{(1-\delta)}{(n-\delta)\left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta}\right)^m} z^i \right), \\ f(z) &= \lambda_1 z + \sum_{i=2}^{\infty} \lambda_i (z) + \sum_{i=2}^{\infty} \lambda_i \left(\frac{(1-\delta)}{(n-\delta)\left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta}\right)^m} z^i \right) \\ f(z) &= \sum_{i=1}^{\infty} \lambda_i (z) + \sum_{i=2}^{\infty} \lambda_i \left(\frac{(1-\delta)}{(n-\delta)\left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta}\right)^m} z^i \right) \end{aligned}$$

or

$$f(z) = z + \sum_{i=2}^{\infty} \lambda_i \left(\frac{(1-\delta)}{(n-\delta) \left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta} \right)^m} z^i \right).$$

By using Theorem 2.1 we get

$$\sum_{i=2}^{\infty} \lambda_i \left(\frac{(1-\delta)}{(n-\delta) \left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta} \right)^m} (n-\delta) \left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta} \right)^m \right) = \sum_{i=2}^{\infty} \lambda_i (1-\delta) < (1-\delta)$$

implies $f \in M(\alpha, \beta, \mu, \lambda, \delta)$. Conversely we suppose that $f \in M(\alpha, \beta, \mu, \lambda, \delta)$ then by using Corollary 2.3 we have

$$|a_n| \leq \frac{(1-\delta)}{(n-\delta) \left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta} \right)^m}, \quad n \geq 2,$$

we consider

$$\lambda_i = \frac{(n-\delta) \left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta} \right)^m}{(1-\delta)} a_i, \quad n \geq 2$$

then $f(z) = \sum_{i=1}^{\infty} \lambda_i f_i(z)$. Hence proved. Similarly we proved the second theorem.

5 Integral Means Inequalities

For any two functions f and g analytic in \mathbb{U} , f is said to be subordinate to g in \mathbb{U} denoted by $f \prec g$ if there exists an analytic function w defined \mathbb{U} satisfying $w(0) = 0$ and $|w(z)| < 1$ such that $f(z) = g(w(z))$, $z \in \mathbb{U}$.

In particular, if the function g is univalent in \mathbb{U} , the above subordination is equivalent to $f(0) = g(0)$ and $f(U) \subset g(U)$. In 1925, Littlewood proved the following Subordination Theorem.

Theorem 5.1 If f and g are any two functions, analytic in \mathbb{U} with $f \prec g$ then for $\mu > 0$ and $z = re^{i\theta}$ ($0 < r < 1$)

$$\int_0^{2\pi} |f(z)|^\mu d\theta \leq \int_0^{2\pi} |g(z)|^\mu d\theta.$$

Theorem 5.2 Let $f \in M(\alpha, \beta, \mu, \lambda, \delta)$ and f_k be defined by

$$f_n(z) = z + \frac{(n-\delta) \left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta} \right)^m}{(1-\delta)} z^n, \quad n \geq 2.$$

If there exists an analytic function $w(z)$ given by

$$[w(z)]^{n-1} = \frac{(1-\delta)}{(n-\delta) \left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta} \right)^m} \sum_{n=2}^{\infty} a_n z^{n-1}$$

then for $z = re^{i\theta}$ and $0 < r < 1$

$$\int_0^{2\pi} |f(re^{i\theta})|^\mu d\theta \leq \int_0^{2\pi} |f_n(re^{i\theta})|^\mu d\theta.$$

Theorem 5.3 Let $f \in N(\alpha, \beta, \mu, \lambda, \delta)$ and f_k be defined by

$$f_n(z) = z + \frac{n(n-\delta)\left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta}\right)^m}{(1-\delta)} z^n, \quad n \geq 2.$$

If there exists an analytic function $w(z)$ given by

$$[w(z)]^{n-1} = \frac{(1-\delta)}{n(n-\delta)\left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta}\right)^m} \sum_{n=2}^{\infty} a_n z^{n-1}$$

then for $z = re^{i\theta}$ and $0 < r < 1$

$$\int_0^{2\pi} |f(re^{i\theta})|^\mu d\theta \leq \int_0^{2\pi} |f_n(re^{i\theta})|^\mu d\theta.$$

Proof Since

$$\int_0^{2\pi} |f(re^{i\theta})|^\mu d\theta \leq \int_0^{2\pi} |f_n(re^{i\theta})|^\mu d\theta,$$

implies

$$\int_0^{2\pi} \left| z + \sum_{n=2}^{\infty} a_n z^n \right|^\mu d\theta \leq \int_0^{2\pi} \left| z + \frac{(n-\delta)\left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta}\right)^m}{(1-\delta)} z^n \right|^\mu d\theta,$$

it is true only if

$$1 + \sum_{n=2}^{\infty} a_n z^{n-1} < 1 + \frac{(n-\delta)\left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta}\right)^m}{(1-\delta)} z^{n-1}.$$

We consider

$$1 + \sum_{n=2}^{\infty} a_n z^{n-1} = 1 + \frac{(n-\delta)\left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta}\right)^m}{(1-\delta)} [w(z)]^{n-1},$$

implies

$$[w(z)]^{n-1} = \frac{(1-\delta)}{(n-\delta)\left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta}\right)^m} \sum_{n=2}^{\infty} a_n z^{n-1}$$

implies $w(0) = 0$ and

$$\left| [w(z)]^{n-1} \right| = \frac{(1-\delta)}{(n-\delta)\left(\frac{\alpha+\beta}{\alpha+(\mu+\lambda)(n-1)+\beta}\right)^m} \sum_{n=2}^{\infty} |a_n| |z|^{n-1}.$$

Hence by using Theorem 2.1 we have $|[w(z)]^{n-1}| < 1$ as required. Similarly we proved theorem 5.3.

6 Hadamard Product

Theorem 6.1 Let $f, g \in M(\alpha, \beta, \mu, \lambda, \delta)$ where $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ and $g(z) = z + \sum_{n=2}^{\infty} b_n z^n$ then $f * g \in M(\alpha, \beta, \mu, \lambda, \delta)$.

Theorem 6.2 Let $f, g \in N(\alpha, \beta, \mu, \lambda, \delta)$ where $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ and $g(z) = z + \sum_{n=2}^{\infty} b_n z^n$ then $f * g \in N(\alpha, \beta, \mu, \lambda, \delta)$.

Proof Since $f, g \in M(\alpha, \beta, \mu, \lambda, \delta)$ therefore by using Theorem 2.1 we have

$$\sum_{n=2}^{\infty} (n - \delta) \left(\frac{\alpha + \beta}{\alpha + (\mu + \lambda)(n - 1) + \beta} \right)^m |a_n| \leq 1 - \delta,$$

and

$$\sum_{n=2}^{\infty} (n - \delta) \left(\frac{\alpha + \beta}{\alpha + (\mu + \lambda)(n - 1) + \beta} \right)^m |b_n| \leq 1 - \delta.$$

Because we know that

$$\sum_{n=2}^{\infty} (n - \delta) \left(\frac{\alpha + \beta}{\alpha + (\mu + \lambda)(n - 1) + \beta} \right)^m |b_n| |a_n| \leq \sum_{n=2}^{\infty} (n - \delta) \left(\frac{\alpha + \beta}{\alpha + (\mu + \lambda)(n - 1) + \beta} \right)^m |a_n| \leq 1 - \delta,$$

implies

$$\sum_{n=2}^{\infty} (n - \delta) \left(\frac{\alpha + \beta}{\alpha + (\mu + \lambda)(n - 1) + \beta} \right)^m |b_n| |a_n| \leq 1 - \delta,$$

again by using Theorem 2.1 we conclude that $f * g \in N(\alpha, \beta, \mu, \lambda, \delta)$. Similarly we proved the second theorem .

Acknowledgment

The work presented here was fully supported by UKM-ST-06-FRGS0244-2010.

References

- [1] M. Darus, I. Faisal, *Inclusion properties of certain subclasses of analytic functions*, Revista Notas de Matemática, 7(1), **305** (2011), 65–75.
- [2] M. Darus, I. Faisal, *A different approach to normalized analytic aunctions through meromorphic functions defined by extended multiplier transformations operator*, Int. J. App. Math. Stat. **23**(11) (2011), 112–121.

- [3] M. Darus, I. Faisal, *Characererization properties for a class of analytic aunctions defined by genaralized cho and srivastava operator*, In Proc. 2nd Inter. Conf. Math. Sci., Kuala Lumpur, Malaysia, (2010), pp. 1106-1113.
- [4] M.K. Aouf, R.M. El-Ashwah, S.M. El-Deeb, *Some inequalities for certain p -valent functions involving extended multiplier transformations*, Proc. Pakistan Acad. Sci. **46** (2009), 217–221.
- [5] F.M. Al-oboudi, *On univalent functions defined by a generalized Salagean operator*, Int. J. Math. Math. Sci. (2004), 1429–1436.
- [6] G.S. Salagean, *Subclasses of univalent functions. Lecture Notes in Mathematics 1013*, Springer–Verlag (1983), 362–372.
- [7] B.A. Uralegaddi, C. Somanatha, *Certain classes of univalent functions*, In: *Current Topics in Analytic Function Theory*. Eds. H.M. Srivastava and S. Owa., World Scientific Publishing Company, Singapore, (1992), 371–374.
- [8] N.E. Cho, T.H. Kim, *Multiplier transformations and strongly close-to-convex functions*, Bull. Korean Math. Soc. **40** (2003), 399–410.
- [9] T.B. Jung, Y.C. Kim, H.M. Srivastava, *The Hardy space of analytic functions associated with certain one-parameter families of integral operator*, J. Math. Anal. Appl. **176** (1993) 138–147.
- [10] J. Patel, *Inclusion relations and convolution properties of certain subclasses of analytic functions defined by a generalized Salagean operator*, Bull. Belg. Math. Soc. Simon Stevin **15** (2008), 33–47.
- [11] T.M. Flett, *The dual of an inequality of Hardy and Littlewood and some related inequalities*, J. Math. Anal. Appl. **38** (1972), 746–765.
- [12] G.S. Salagean, *Subclasses of univalent functions. Lecture Notes in Mathematics 1013*, Springer–Verlag (1983), 362–372.
- [13] M. Darus, I. Faisal, *A study on becker univalence criteria*, Abstract and Applied Analysis, V. 2011 (2011), Article ID 759175, 13 pages doi:10.1155/2011/759175.

Imran Faisal, Maslina Darus

School of Mathematical Sciences, Faculty of Science and Technology

Universiti Kebangsaan Malaysia

Bangi 43600 Selangor D. Ehsan, Malaysia

e-mail: faisalmath@gmail.com, maslina@ukm.my (Corresponding author)

Saibah Siregar

Faculty of Science and Biotechnology

University of Selangor

Bestari Jaya, 45600, Selangor Darul Ehsan, Malaysia.

e-mail: saibahmath@yahoo.com